9/27/22, 10:05 AM MAKITA SERVICE INFORMATION

Model No.DHR243 24MM CORDLESS COMBI. HAMMER

https://msi.makita.co.jp/MsiWW/MsiWW/genpo_swf/print.html 1/6



9/27/22, 10:05 AM MAKITA SERVICE INFORMATION

https://msi.makita.co.jp/MsiWW/MsiWW/genpo_swf/print.html 2/6



9/27/22, 10:05 AM

MAKITA SERVICE INFORMATION

Model No.DHR243 24MM CORDLESS COMBI. HAMMER

gi:%em e sy I/C | Qty [New/Old| Sales Purch. Note

001 194080-7  |TOOL HOLDER SET 1

D10 INC. 105-121
011 266745-2  |UgEMNUSiAON M8X90 1
012 453129-5 |oamizms 1
013 158057-6  |1=mnS 36 1
014 266351-3 |7ty 4X35 4
015 141229-0  |[UHUAMS 1

C10 |213345-9  |imus 25 1

C20 |890903-4 |anmamMUAUAMIAN 1
016 331890-3 |Un¥APU 1
017 211294-4 | BALL BEARING 6806LLU 1
018 454112-5  |LOCK BUTTON 1
019 234264-6 |Tediusnu 3 1
020 453131-8 AEUSSILI 1
021 453125-3  |&mg:uiga 1
022 213381-5  |TmnsH™ O 21 1
023 253308-3  |mMIAINE 6 1
024 234147-0 |Tahiughu s 1
025-1 |326850-8 |PUSH CORN 1
026 233360-7 |TediuEnu 4 1
027 346537-6 USimfiian 1
029 216019-1  |Wizm 3 4
030 140266-1 | OO MOLDERGUIDE 1
031-1 |332139-4 |&sugdiafiimi 1
032-1 |227360-7 |FiIM 51 1
035 234148-8  |Tediusnus 31 1
036 267153-0  |mimAmius 30 1
037 257932-4 s 30 1
038 267153-0  |mAUiUS 30 1
039 325783-4 |Un 9B 1
040 325791-5 |0gmum~B 1
041 325792-3 |10 1
042 234149-6  |TediuEnus 20 1
043 325793-1 |{UHUTH 0B 1
044 213073-6  |TMNHHMP O 9 1
045 233979-2  |TediTs 28 1
046 326139-4 |gunm 1
047 213258-4 |TMNHHMP 0 17.5 1
048 310345-1  |adspwifun (5 TwN) 1
049 346036-8 |US:SU 1
050 324215-8  |PISTON JOINT 1

Please order the parts with part number.

https://msi.makita.co.jp/MsiWW/MsiWW/genpo_swf/print.html

Print Date 27/9/2022

3/6



9/27/22, 10:05 AM

MAKITA SERVICE INFORMATION

Model No.DHR243 24MM CORDLESS COMBI. HAMMER

gi:%em eI s I/C Qty [New/Old| Sales Purch. Note

051 234098-7 Uy 14 1
052 267447-3 |msasius 14 1
053 211012-0  |BALL BEARING 60677 1
054 257336-0  |TmMSU (EXT) U-6 1
055 253186-1 MAaTUS 7 1
056 227231-8  |Am 10 1
057-1 |[326849-3 |&suUfimu A 1
058 326140-9 |CAM SHAFT 1
059 219020-5 |SWASH BEARING 10 1
060 227588-7  |fAm 32 1
061 257323-9  |Tm 8 1
062 922118-6 v‘%sﬁm‘mmmg M4X12 2
063 346038-4  |BEARING RETAINER B 1
064 211032-4  |BALL BEARING 60877 1
065 324212-4 |Tm g 1
066 922147-9 GgiHmNUians s M4X25 2
067 141230-5  |INNER SUPPORT COMPLETE 1
068 213767-3  |TmMnH#HME 0 75 1
069 318810-4 |wwyjMenHnH 1
070 443153-6  |Uis 1
071 922118-6 V@\;gﬁﬁpmmmg M4X12 2
072 346536-8 |BEARING RETAINER A 1
073 256536-9  |MSWIANU 6 1
074 346538-4  |WEIGHT HOLDER GUIDE 1
075 313224-2 |iymisUSYSs 1
076 346538-4  |WEIGHT HOLDER GUIDE 1
077 253726-5 |mfaiUs 6 1
078 961018-5 |TtnSU (EXT) E-5 1
079 213008-7  |TmnHHME 0 22.4 1
080 141458-5 | M 11 10minum 1
081 210024-0  |BALL BEARING 608LLU 1
082 253835-0 MAuTUS 8 1
083 619293-4  |im$s 1 *
083-1 |619737-4 |ROTOR 1

D10 INC. 80-82,84
084 210022-4  |BALL BEARING 626DDW 1
085-2 |529187-4 |winfiansSi 1
086 620241-8  |Summ 1
087-2 183C02-0 beialbic il 1 *

D10 INC. 91 *

Please order the parts with part number.

https://msi.makita.co.jp/MsiWW/MsiWW/genpo_swf/print.html

Print Date 27/9/2022

4/6



9/27/22, 10:05 AM

MAKITA SERVICE INFORMATION

Model No.DHR243 24MM CORDLESS COMBI. HAMMER

gi:%em eI anis I/C | Qty |New/Old| Sales Purch. Note
087-3 [183C02-0 |nusitud]m 0 1
D10 INC. 91
088 815B50-2 aNFIMMiIuE100T DHR243 1
089 815B44-7  |[tnAinun: DHR243 1
090 266326-2 |7t 4X18 10 *
090-1 |266326-2 |7t 4X18 0] 10
091-2 183C02-0 beialbic il 1 *
D10 INC. 87 *
091-3 [183C02-0 |rnweituy)m 0 1
D10 INC. 87
092 453124-5 ASISGm/Gu 1
093 453123-7  |[m§:mnms 1
094 650709-0 |H¥MH C3JW-1A-P 1
095 233598-4 ?ﬁ?jugt& 6 1
096 313226-8 E.’g‘ifi‘ﬁ“ 1
097 644808-8 ﬁﬁfkﬂ 1
098 424476-1 CUSHION 1
099 187377-1 AN E Y 1
C10 |263005-3 |msneuiriey 6 2
D10 INC. 104
100 263036-2 |FSeUIAIE 5 1
101 268184-2 |mMgheu 15 1
102 424473-7 CUSHION RUBBER 1
103 4244737 CUSHION RUBBER 1
104 187377-1 QUES ERRAnpale 1
C10 [263005-3 |mSeuiried 6 2
D10 INC. 99
105 286263-4 CAP 35 1
106 233940-9 TediTH 19 1
107 418217-5 AEURNUTIUTSE 1
108 345333-9 gu™Inisy 1
109 216022-2 pﬁfﬁﬁ 7.0 1
110 345187-4 idsuy 1
111 233916-6  |TediUEnU 21-29 1
112 267279-8 A UTUS 21 1
113 324355-2 TOOL HOLDER 1
114 216013-3  |Ufizm 6 2
115 231669-1  |TafiUSH 31 1
116 345334-7  |Tmmuigs 1
117 418218-3 AUl 1
118 216018-3  |Wism 5.0 1

Please order the parts with part number.

https://msi.makita.co.jp/MsiWW/MsiWW/genpo_swf/print.html

Print Date 27/9/2022

5/6



9/27/22, 10:05 AM

MAKITA SERVICE INFORMATION

Model No.DHR243 24MM CORDLESS COMBI. HAMMER

gi:%em eI~ s I/C Qty |New/Old| Sales Purch. Note
119 345335-5 |ugSmNig)e 1
120 267270-6 |miAfITUS 24 1
121 233924-7 | TediTH 21 1
122 893072-0  |anm™innsi 1
123 890994-5  [anminnsi 1
124 424734-5  |[1HUH 2
AOT 324219-0  |1hausiyd 1
A02-1 |194079-2 |usFANUSIUIRANS 1
C20 |324353-6 |CHUCK HOLDER 1
C30 |418216-7 |SPACER 1
AO3A  [*kx*DC18RC |[DC18RC FAST CHARGER 1
A04-3A |197600-6 |nusiS BL1830B 2 *
A04-4A [197600-6  |rwsit BL1830B 0 2
AO5A  [450128-8 |m{BuUd 1
AO6A  [141401-4  |juHU: 1
c10 |[162271-8 |m§: 2
C20 |890904-2 aNS MU S US MIn 1
AO7-1A |802M41-8 |Label ([UHUXNI DHR243RFE 2
BO1 195834-5 [(UHUBUMIMNIRUSUMN 1
C10 [195127-0 |nusignm 2
D10 INC. 44,45,47,105,109
F37-3  |197606-4 ?ZgETgEg) BL1830B SET o | 1
F48-1 [199977-5  |DUST CASE SET o} 1
F50-1 [199557-7  |FILTER SET 0 1
F52-3 |197267-0 |BATTERY BL1840B SET 0 1
F53-3 |197265-4 |nuss BL1840B 0 1
F54-3 1972735 E'E\I(TZE,F;E(CBE;‘)MOB 0 1
F56-2 [196235-0  |nwsis BL1815N o} 1
F57-1 |196449-1  |BATTERY BL1815N SET o} 1
F58-2 |196449-1  |BATTERY BL1815N SET 0 1

Please order the parts with part number.

https://msi.makita.co.jp/MsiWW/MsiWW/genpo_swf/print.html

Print Date 27/9/2022

6/6



